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Pemure Bce Tpu 3a1aun
Beca 3a1a4 npuBeeHbI B CKOOKax

HNucTpyknun

e Pemenne MoxxeT OBITH NPEICTABICHO KAaK HAa PYCCKOM, TaK U Ha AHTIHUICKOM S3BIKE.
Hukakux nonomHuTeNnbHBIX 0aiioB, BIPoUYeM, Kak U mTpadoB, 3a pelieHnue Ha aHTJIHICKOM
SI3bIKE HE MIPETYCMOTPEHO.

e Pemenue TOMKHO OBITH XOPOILIO CTPYKTYPUPOBAHHBIM, M3J0XKEHO I'PAMOTHBIM SI3BIKOM, a
noyepk — pacro3HaBaeMbIM. OTBeThl Ha KauyeCTBEHHBIE BOMNPOCHI JOJKHBI OBITh
yOeauTenpbHO apryMEHTHPOBAHBI, HO JUIMHHBIE PACCYXKICHUS, HE OTHOCSIINECS K CYTH Jiena,
MOT'YT HEIaTUBHO IOBJIMATH HA OLEHKY.

e Bce maru B peICHUHN OOJIKHBI OBITE 06OCHOBaHBI, BCC BBIYHMCICHHA JOJIDKHBI
MpUCYTCTBOBATH B pa60Te. KaHBKy.]IHTOPaMI/I IIOJIb30BATbLCA 3aIIPCIICHO.

L4 qepHOBI/IKI/I HC IPpCAYCMOTPCHEI, PCIICHUC CPpa3y O(i)OpMJ'ISIeTCH Ha YHMCTOBHK.

e FEciu mpuBeneHHOE pelIeHUE SBISETCSI HEBEPHBIM, IEPEUEPKHUTE €ro (MepedyepKHyTOoe
pellIeHre He POBEPSETCs) U MPUBEIUTE KOPPEKTHYIO BEPCHUIO.

e [lpu HanMUUU HECKOJIBKUX BapUAHTOB PELICHUS OJTHOTO U TOTO K€ 3a/aHHUs, MPOBEPSIOMINN
caMm OIIpelessieT, Kakoe W3 peHIeHUH MOAJEKUT MPOBEpKEe, a amneusiliMM C MpochOoi
IIPOBEPUTH IPYrol BapUaHT PEIICHUS HE IPUHUMAIOTCS.
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1. [50 points] Answer the following short questions

(a) [8 p.] The two countries with the largest international reserves are China ($3,900 bIn) and Japan
($1,260 bin). China has a fixed exchange rate regime and grows with the average rate of 8% while
Japan’s exchange rate is flexible and the country is stagnating.

(i) What do you think is the best argument in favour of having immense international
reserves?

(if) What is the strongest objection to have excessively high international reserves?
(iii) Discuss pros and cons of different exchange rate regimes.

(b) [9 p.] Consider an open economy in equilibrium with recessionary gap and fixed prices and
wages. The exchange rate is fixed and the current account is fully offset by the capital account. The
failure to repay its national debt causes a complete restriction of foreign capital flow in and out of
the economy. How will the economy adjust to the new equilibrium without capital mobility?
Illustrate graphically and provide an intuitive explanation.

(c) [8 p.] Suppose that several students work over a group assignment. The class-teacher announced
that each member of the group will get the same mark for this assignment based on the quality of the
paper submitted. Comment on the statement: ‘Under these rules the quality of the final paper will be
below the optimal level for this group.’

(d) [8 p.] Consider the Solow model of a closed economy with technological progress that follows a
balanced growth path. An influx of refugees increases labour supply in the country of asylum while
the growth rate of the population remains intact.
(i) What will be the immediate effect on GDP per worker? Sketch a graph showing the path of
the growth rate of GDP per worker over time following this shock.

(if) What will be the immediate and the long-run effect on consumption per worker?

(e) [8 p.] Albert Hirshman emphasized two general types of actions through which members of an
organization can respond to its malfunctioning: exit and voice. In the first case, a member withdraws
from an organization. In the second she ‘raises her voice’ to improve matters. Would you typically
expect these two mechanisms to be substitutes or complements? That is, once exit becomes cheaper,
would you expect more voice? lllustrate your answer with examples.

() [9 p.] Give an example of two two-person games that would differ only in whether the first
player’s action is observed by the second player, and where the first player would gain from this
observability. Give also an opposite example, where observability would decrease the first-player’s
payoff.

2. [25 points] In a closed economy with fixed prices and wages the government decides to cut the tax
rate which is levied proportionally on households’ income.

(a) Derive the autonomous expenditure multipliers for the case of balanced budget policy and
without balancing the budget. HINT: Think about alternative instruments to balance the budget.

(b) Compare the multipliers in (a) and explain intuitively why they are different.
(c) Hlustrate graphically using 1S-LM model the effects of the tax cut for the cases mentioned in (a).

Assume now that money demand depends on the households’ consumption rather than total income
and money supply is constant.
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(d) Derive analytically the formula for the new LM schedule.

(e) Analyze graphically and explain intuitively the effects of the tax cut in the economy with and
without the balanced budget rule.

3. [25 points] Consider an industry with two firms that have identical cost functions given by
c(g;) =0.5(q;)*, where g, stays for the output produced by firm i (i =1,2). The inverse demand
function is P(Q)=16-0Q.

(a) Compute the Cournot equilibrium. Find the resulting profits.

(b) Suppose, now both firms can sell output at world market at the competitive world price of p per
unit. But these firms are the only producers at domestic market due to high import tariffs (and
citizens can purchase the product at domestic market only as otherwise they have to pay extremely
high import tariffs). Find all possible values of world price p under which it is profitable for

domestic producers to sell both at domestic and world markets.
(c) Suppose that both firms can sell output at world market at the competitive world price of 7 per
unit and all other conditions of part (b) are satisfied. Find the resulting domestic and foreign (i.e.

world market) sales. Calculate each firm’s profit and compare with the profits from part (a). Explain
the result.
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